Soustraction (I)

Calculez la différence.

2257 7861 4548 4221 928 9126 8590 400 5930 3047

- 8 -3 =415 - 19 -394 - 5 —_ 8 — 9 —5336 —_35
75 878 3959 3130 7699 5 2981 14 96 9415
-5 —-—60 — 45 — 15 — 1 — 2 — 80 —_ 7 — 5 —_61
325 3913 92 5121 3543 72 9595 8542 380 49
- 90 —-925 — 288 — 1 —-69 —_ 54 -9 — 12 — 3 — 7
6709 2476 2629 9 475 4145 400 1701 7 1695
- 8 -7 -7 -5 -2 -3 —_ 3 — 53 —_ 6 —_90
4487 4064 9 7 956 3483 763 8319 21 7144
- 479 - 6 — 1 — 47 — 9 —_ 90 —_ 32 —593 — 5 —_ 39
142 631 646 21 748 1332 1366 9398 9954 678

- 8 -2 - 8 —_ 5 —457 —_81 — 615 — 547 — 8 —_1
217 635 371 453 805 233 8909 550 5121 96
- 2 - 3 — 8 -9 —441 - 4 —_59 —256 —5120 —_ 75
75 507 929 584 19 4713 719 64 02 §

- 34 - 35 -2 =215 -6 —-1216 —_ 4 — 4 — 2 — 3
73 9109 3172 832 7429 5693 77 5091 99 391

- 18 -2 - 9% -1 - 7 -4 — 5 — 6 — 64 — 1
7578 965 3394 7949 1779 93 9667 7 43 156
- 152 —-_51 -33%67 -6 — 4 - 9 — &8 — 5 — 9 — 34
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